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# include < stdio. h>
# include<malloc. h>
# include < string. h>
# define OK 1
# define ERROR 0
typedef struct airlinef{
char air num[8];
char plane num[8];
char end place[20];
int total;
int left;
struct airline % next;
}airline;
typedef struct customer({
char name[8];
char air num[8];
int seat num;
struct customer * next;
}customer;
airline x start air()
{
airline x a;
a= (airline * )malloc(sizeof(airline));
if(a == NULL)
printf("AEAL");
return a;
}
customer * start cus()
{
customer * c;
c = (customer % )malloc(sizeof (customer));
if(c == NULL)
printf("Z AR E");
return c;
}
airline * modefy airline(airline % 1,char x* air num)
{
airline x p;
p=1->next;
for(;p! = NULL;p = p — > next)
{
if(strcmp(air num,p—>air num) ==0)
{
p—> left++;
return 1;
}
printf("NO the airline!'");

return O,
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int insert air(airline xx p,char * air num,char x* plane num, char * end place, int total,

int left) [ BMATYEAE B » /
{
airline x qg;
g = (airline * )malloc(sizeof(airline));
strepy(g—>air num,air num);
strepy(q — > plane num, plane num);
strcpy(q —> end place, end place);
q—> total = total;
q—>left = left;
q — > next = NULL;
(*p) —>next=gq;
(% p) = (*%p)—>next;
return OK;
}

int insert cus(customer xx p,char * name,char * air num, int seat num)

/% HEIMHEATBE BB 5 8« /

customer x q;

q = (customer * )malloc(sizeof (customer));
strcepy(q — > name, nane) ;

strcpy(q—>air num,air num);
q—>seat_num= seat_num;

q — > next = NULL;

(*p) —>next=gq;

(% p)=(xp)—>next;

return OK;

}

int book(airline x a,char % air num,customer % c,char x name) /o JTEEFRAE x /

{
airline x p=a;
customer * q=c—>next;
p=a-—>next;
for(;q—>next! = NULL;q=q—>next){}
for(;p—>next! = NULL;p = p— > next)
{
if(p—>left>0)
{

printf("Your seat number is % d",(p—>total-p—->left+1));

insert cus(&g,name,air num,p->total —p—->left+1);
p—>left——;

return OK;

else

printf("seat is full");

return 0;
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int del cus(customer * c,airline x 1,char x name) /x BUMIT 22 (5 B e « /
{
customer x p, % pr;
char air num[8];
pr=c;
p = pr — > next;
while(p! = NULL)
{
if (strcmp(p — > name, name) == 0)
{
strcpy(air num,p—>air num);
1 =modefy airline(l,air num);
pr —>next = p — > next;
p = pr —>next;
printf("finish!");
return OK;
}
pr = pr — > next;
p =pr —>next;
}
printf("NO the customer!");
return ERROR;
1
int search air(airline x head) [ x B MPEAE BERAE < /
{
airline * p = head —> next;
printf("air num plane num end place total left\n");
for(;p! = NULL;p = p — > next)
{
printf(" %$s% —10s % — 8s % —8d% —8d\n",p—>air num,p->plane num,p->
end place,p—> total,p—> left);
}
return OK;
}
int search cus(customer * head) /% 2K AT B AR « /
{
struct customer x g= head — > next;
printf("name air num seat num\n");
for(;q! = NULL;q= q—> next)
{
printf(" % -8s% —12s% —d\n",q—>name,q->air num,q—> seat_num);
}
return OK;
}
int creat air(airline xx 1) /ox WG E PR « /
{
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int creat_cus(customer xx 1)

{

}

{

airline xp= % 1;
int 1=0;
char % air num[3] = {"007af","008af","009at"};

non

char x* plane num[3] = {"planel”, "plane2", "plane3"};
]

non o

char * end place[3] = {"Beijing", "Shanghai",
int total[3] = {100,100,100};
int left[3] ={52,54,76};

for(i=0;1<3;i++)

Tianjin"};

insert air(&p,air num[i],plane num[i],end place[i],total[i],left[i]);

return OK;

/x BAERECITENBEFL </

customer * p= % 1;

int 1=0;

char x* name[3] = {"zhangsan","1lisi", "wangwu"};

char % air num[3] = {"007af","008af","009af"},;
int seat num[3]={2,5,7};

for(i=0;1<3;1i++)

insert cus(&p,name[1i],air num[i], seat num[1i]);

return OK;

void main()

int t=1;

customer * cus = start cus();
airline x air = start air();
char name[8], air num[8],ch;
creat air(&air);

creat cus(&cus);

while(t==1)
{
printf("\n");
printf(" **x—**x—*************%*************\n");
printf(" * Welcome to air firm! *\n");
printf(" * book —=—————— 1 *\n");
printf(" = cancel —————- 2 *\n");
printf(" = search—————— 3 *\n");
printf(" * exit ———————-— 4 *\n");
Printf(" **xxx %% x % %%k kXXX XXX XXX xxxxxxxxxx \n");
ch = getch();
if(ch=="'1")

{
printf("Please input a airline number:");
scanf (" % s",air num);
printf("Please input a name:");
scanf(" % s", name) ;

book(air,air num, cus, name);
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}
else
if(ch=='2")
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printf("Please input the cancel name:");
scanf(" % s", name) ;
del cus(cus,air,nane);

1

else

search air(air);
printf("\n");

search cus(cus);

—

}
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T3 — P ERE B R K
move(char a,char c),
FARMN— M BB E 7 — D a Flc A b, HSHMAXERW T Ik .

void Hanoi ( int n, char a, char b, char ¢ )
[ BB a N EBITF AT 1~n, FREH AR R /NE R Z B o A5 &4 N 2h B35 3 ¢ -,
W b FHAEHE B e > /

{ 4if(n= =1)
nove (a, ¢ ) ; /o 445 1 ES BE a B 3 BB ¢ % /
else
{ Hanoi (n-1,a, ¢, b); /x¥a 45 h 1~n—1MEAKEZE b.c IR B » /
move ( &, c); /x5 A n RN a BB EhE| cx /

Hanoi (n-1, b, a, ¢ ); /*¥b 45 R 1~n-1 WRAMBEE c.a FFIEHBIIEIE « /

}
(3) Pt 3k 30

# include "graphics. h"
# include "dos. h"

# include "stdio. h"

# include "alloc. h"

# include "stdlib. h"

# include "conio. h"

()l i 5 BB IE B F R R

size = imagesize(x1,yl,x2,vy2); /R REEMR RN %/
buffer = malloc(size); /% WEH TR IR NATE « /
getimage(x1,yl, x2,y2,buffer); [ x ARETE MR HEA G X x /
putimage(xml, yml, buffer, COPY PUT); /% WG X Pk &2 EAG « /
free(buffer); [ x BEUNTFGE WX x /
(€351

# include "graphics. h"
# include "dos. h"
# include "stdio. h"
4 include "alloc. h"
int numl, num2, num3, h0, cy[66];
void plotl(int ,int ,int , int );
void move(char getone, char putone)
{ int x0=140,x,y,w,h, tx, ty, tw, th,x1,%x2,yl,y2,xnl, ynl, xn2, yn2;
int i,n,size;
void x buffer, x bufferl;
switch(getone)

{



